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FIHAZKIE (0im) :3°C AU (0a) :-10C
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R 25%
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O CLUL EIZAR DA DORIRESZ 15mm HARE T 5,
PRIEAT ONEED i=0.0891 m
PRIEM DHMED =0.1191 m
KOEE mw=5.11491kg/m
BOER  mp=8.79382kg/m
BNAKDOELELE Cpw=42klkeg K
BOEFELE Cpp=0.46kJ/kg-K
WIWIKE  0im=3C
tHREMZ OB N OKOIRE (FHFSIEE) 0fm=0C
SAVKIRE 0a=-10C
CW=Cpw'mw+Cpp'mp
=25.52778
BUEHIR I=In(D e/Di)/2+nA+1/hsen-De
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BUEHIR I=In(D e/D 1) /21 A
=1.776435 m-K/W
JiE FE i t=(CW+R/3.6) - In((6im — 0a)/(6fm — 0a))
=22.7 IFfi] > 16 RFfH]
Fo THYNRE LTARIBESITIE LW ERER S NS,
[ FHERER ]
[ 1 /8] WAHEE YL &7 4 — A BGRE M)
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